GENERAL NOTES:
1. ALL FASTENERS SHALL BE IN ACCORDANCE WITH THESE DRAWINGS. SPECIFIED ANCHOR EMBED TO
BASE MATERIAL SHALL BE BEYOND WALL FINISH OR STUCCO.

[THESE DRAWINGS ARE APPLICABLE ONLY TO THE PRODUCTIJDS
ISPECIFIED. THEY MAY NOT BE USED FOR THE ASSEMBLY
[AND/OR INSTALLATION OF ANY OTHER PRODUCT NOR MAY

3
g

i
E3

KPS,

CHECKED BY:
WMS.

&

[TH ED FOR RATIONAL AND/OR LOCAL APPROVAL 10/04
2. OPENINGS, BUCKING & BUCKING FASTENERS MUST BE PROPERLY DESIGNED & INSTALLED TO oF AN T NOT PRODUCED BY THE MANUFACTURER
TRANSFER WIND LOADS TO THE STRUCTURE. STATED ON THESE DRAWINGS. alz]els
3. THESE NON—IMPACT RATED WINDOW SYSTEM INSTALLATIONS ARE IN ACCORDANCE WITH AND MEET glslzlsls
THE REQUIREMENTS OF THE FLORIDA BUILDING CODE (FEC). B NN
4. ALL ANCHORS SECURING WINDOW FRAME TO PRESSURE TREATED BUCKS OR WOOD FRAMING SHALL
BE CAPABLE OF RESISTING C\?‘Filogoﬁm%%s% FéYTE&ESz;E&ISSURT% ATTR%A(}'IJJS ‘ﬁ?gMé%mLTsA c|$ mﬁ vg_ggk s /‘!\7&% MABX.E FRégAE WIDTH, FOR MAX. FRAME WIDTH, HHHE
5. MATERIALS, INCLUDING B X — WABLE DESIGN PRESSURE — = SEE ALLOWABLE DESIGN PRESSURE —
DISSIMILAR MATERIALS SHALL MEET THE REQUIREMENTS OF FLORIDA BUILDING CODE CHAPTER 20.
6. 1O THE BEST OF OUR KNOWLEDGE, THE WINDOWS SHOWN HEREIN ARE CERTIFIED & QUALITY TABLE ON THIS SHEET TABLE ON THIS SHEET mEHA
ASSURED BY A FLORIDA STATE APPROVED CERTIFICATION/QA ENTITY & SHALL BE LABELED IN H » Sle
ACCORDANCE WITH THE FBC AND THE SN—3 FLORIDA BALDING COMMISSION SPECIFICATIONS.  WINDOW (AT 6" MAX. "-“ (A2 6" MAX. 4 § gle
ASSEMBLY IS NOT PART OF THIS DRAWING AND SHALL BE IN ACCORDANCE WITH THE MANUFACTURER'S 2 NAIL FIN 2 HAHEERE
QUALITY ASSURANCE SPECIFICATIONS & TESTING REPORTS. : s s s - 5 Vi V2 v | 4 ols
7. CERTIFICATION OF THESE WINDOW INSTALLATIONS SHALL BE CONSIDERED VOID IF ANY OF THE i = = - 212181212
FOLLOWING APPLY: 1) THEY ARE INSTALLED WITHOUT A BUILDING PERMIT FROM THE APPLICABLE LOCAL r N ’ 47 MAX. ISt olols|s
BUILDING DEPARTMENT. 2) IF THEY ARE INSTALLED BY ANYONE OTHER THAN A LICENSED CONTRACTOR - I i Dy <l HMHMHE
EXPERIENCED WITH WINDOW INSTALLATIONS. 3) IF CHANGES HAVE OCCURRED TO THE PRODUCT'S &= i // / \ £z / / \ ] EHHEHE
CERTIFICATION ENTITY'S CERTIFICATE THAT CAUSE THESE INSTALLATIONS TO BE INCORRECT OR 255 N A ©=5 / ' 15151515
INCONSISTENT WITH WHAT HAS BEEN TESTED. o, | \ OPPOSITE Moo | OPPOSITE .? Slz|sls|s
B. THE LEAST DESIGN PRESSURE SPECIFIED EITHER IN THIS DRAWING OR IN THE PRODUCTS 25 /BN =1 BN\ /B2 x8
CERTIFICATION SHALL CONTROL FOR THE INSTALLED WINDOW. Ywdn 5 < ,FIN FASTENER WITHIN 4 <> Ywln < FRAME SCREWS OR =%
9. THESE DRAWINGS CERTIFY THE WINDOW INSTALLATION ONLY. WATER PROOFING OF THE INSTALLED IB-5 2/ OF CORNERS & 8" 70 N\ Zacz 2/ INSTALLATION CLIPS WHERE Z/ g
WINDOWS IS NOT PART OF THIS INSTALLATION CERTIFICATION. THAT RESPONSIBILITY SHALL BE THAT OF (= <1, N . N - xg,”? > \ Kl =]
THE MANUFACTURER &/OR INSTALLER. gxo 10" 0.C. SEE "FRAME By SHOWN. SEE "FRAME = =
=l = ANCHQR REQUIREMENTS \ é = 2 = ANCHOR REQUIREMENTS o s 8 n o
=<9 4 / TABLE” ON THIS SHEET A <Y / TABLE” ON THIS SHEET FOR \ -8 P
. FOR REQUIREMENTS. e REQUIREMENTS. y/ =| 8.3
R OR/SU u =k / =r2 / l ol THle
ALL ALTERNATE ANCHORS IN THEIR SPECIFIED ’ R > < - = -3%—‘03
SUBSTRATES HAVE BEEN ANALYZED IN ACCORDANCE ¥ 47 MAX. § g &“tlo
WITH THEIR APPLICABLE STANDARD(S) AND ARE FOUND 4 * - A A RA I < ggzgo
TO BE EQUIVALENT TO OR STRONGER THAN THE E q 5 E\-—g(\lj
ANCHOR(S) USED IN TESTING WITH THIS PRODUCT. XTERIOR ELEVATION EXTERIOR ELEVATION: Sl I
SINGLE WINDOW =S| Zon®
ARy SINGLE WINDOW T | 28
PS4 = 10 SCALE: 3/4” = 1'-0" 2.2
NAIL FIN MOUNT CONDITION : == Sl ¢
FRAME ANCHOR REQUIREMENTS TABLE ( ) (FRAME SCREW & CLIP MOUNT CONDITION) z Igg =
OPENING TYPE FRAME/CLIP/NAIL FIN TO MINIMUM| MINIMUM 8 §
(SUBSTRATE) OPENING FASTENER TYPE EMBED [EDGE DIST. = g
FRAME_SCREWS A e e
MIN. 2X4 WOOD FRAME OR BUCK N " o Z%
(MIN. GR. 3 & G=0.55) NO. 10 SMS OR WOOD SCREW |1 1/4" | 3/4 A v | ALLOWABLE > 352 .
MIN. 18 GA. 33 KSI METAL STUD |NO. 10 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2" mg%": HFEI‘(\;"ﬁﬁ (IiR/E_Ssggg) 2| £3:3,
MIN. 1/8" THK A36 STEEL NO. 10 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2" (N) (N.) = %4 Sa
MIN. 1/8” THK 6063-T5 ALUM. |NO. 10 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2" 5 % = =3 Egs
C—90 CMU/2500 PSI CONCRETE (1) 1/4” CONCRETE SCREW 11/4 2" % o o u E%;%é‘
Q ws 5"
INSTALLATION CLIP SCREWS PRESSURE_SHOWN IN THIS TABLE LS |, £5 %8s
MIN. 2X6 WOOD FRAME OR BUCK NO. 8 X 1 1/2" SMS 1 378" 3/4 IS FOR INSTALLATION CONDITIONS Z |E3a gof
(MIN. GR. 3 & G=0.55) - / / / ONLY. THE GOVERNING DESIGN o |5.873
MIN. 18 GA. 33 KSI METAL STUD | NO. 8 GR. 5 SELF TAP/DRILL SCREW | FULL 1/2" gﬁEEEUBREE 'S-II\IE TI.%ES\gg‘DC?IyﬁHAT g;,: s
” ” =) o
MIN. 1/8" THK A36 STEEL NO. 8 GR. 5 SELF TAP/DRILL SCREW | FULL 1/2 SHOWN IN THE INDIVIDUAL
MIN. 1/8”" THK 6063-T5 ALUM. | NO. 8 GR. 5 SELF TAP/DRILL SCREW | FULL 1/2" WINDOW'S STATE APPROVAL OR u
(2) NAILING FIN FASTENERS THAT SHOWN IN THIS TABLE. o~ .
- M
MIN. 2X4 WOOD FRAME OR BUCK R N IS
(MN. GR. 3 & G=0.55) NO. B SMS OR WOOD SCREW |1 3/8" | 1/2 )
MIN. 2X4 WOOD FRAME OR BUCK N » INSTALLATION EVALUATION IS BASED ON APPLICABLE ANCHOR UTZ-
i o 3 8 6-05) S L WA o Y SR S
» » . N
MIN. 1/8" THK A36 STEEL NO. 8 GR. 5 SELF TAP/DRILL SCREW | FULL 1/2 THE EVALUATION WAS THAT IN FORCé) AT THE TIMECOF ':'HERED Y &
0 — G EVALUATION. IN THE EVENT OF CODE VERSION CHANGES/UPDATES OR ES
MIN. 1/8" THK 6063—~T5 ALUM. NO. 8 GR. 5 SELF TAP/DRILL SCREW | FULL 1/2 IN THE EVENT THAT NEW OR ADDITIONAL TESTING 1S COMI/’LEYED on =
(1) CONCRETE SCREWS SHALL BE ELCO ULTRACONS, ELCO CRETE—FLEX, MW RAMSET/RED THE REFERENCED PODUCT, PROR T0 STATING CODE COMPLANCE -TWING_NOIW
HEAD TAPCONS OR HILTI KWIK—CON Il (HARDENED STEEL OR S.S.). INSTALLATION EVALUATION ENGINEER OF RECORD THAT THE 1271 D
(2) WHEN SCREWS ARE USED WITH THE NAIL FIN, THEY MUST BE A WAFFLE HEAD SCREW OR INSTALLATIONS SPECIFIED HERE-IN ARE CURRENT WITH THE THEN SHEET NO.
HAVE A FLAT WASHER AT THE SCREW HEAD. CURRENT TESTING, CODE AND APPLICABLE STANDARDS. 1 o 3




SEALANT BY OTHERS
BEHIND NAIL FIN

FIN FASTENER PER

ELEVATION

/— SUBSTRATE BY OTHERS
“~ PER "FRAME ANCHOR

1 REQUIREMENTS TABLE”
1/4" MAX.
SPACE
SEALANT BY:
OTHERS
[RY
) :
EXTERIOR _ﬁ_ &
£
L
- _ =
; <T
o
[

]

T
SEALANT BY\:—Q N\R

OTHERS

1/4

SEALANT BY OTHERS

BEHIND NAIL FIN SECTION

FIN FASTENER
PER ELEVATION

(A

SCALE: 1/2 FUL

L \2/

(NAIL FIN MOUNT)

" uax. |

SPACE
¥SHIM AS REQ'D TO

SUPPORT & ALIGN
WINDOW

SUBSTRATE BY
OTHERS PER
"FRAME
ANCHOR
REQUIREMENTS
TABLE”

SUBSTRATE BY OTHERS PER "FRAME
ANCHOR REQUIREMENTS TABLE™

FRAME SCREW
~ PER ELEVATION

% 1/4" MAX.
% SHIM AT EACH
A 5 ANCHOR ~|
SEALANT BY 2
OTHERS {U W g 2
N
1
[l%% \ 20T
o
EXTERIOR _ﬁ‘ 5
e
Lt
T I =
<C
I_‘7/_L..F &©
E =2
SEALANT BY\\‘%:;I@ ‘LR N
OTHERS 5
3 1/4" MAX. _|
3 SHIM AT EACH
ANCHOR

SUBSTRATE BY OTHERS

PER "FRAME ANCHOR

REQUIREMENTS TABLE”

SECTION
SCALE: 1/2 FULL \ 2/

(A2

FRAME SCREW MOUNT SHOWN. SEE
DETAILS ON SHEET 3 FOR DIRECT
MOUNT & CLIP MOUNT DETAILS.

“FRAME SCREW

PER ELEVATION

SUBSTRATE BY
OTHERS PER
"FRAME ANCHOR
REQUIREMENTS

TABLE”

FIN FASTENER—
PER ELEVAT]Oh

SEALANT BY — -
OTHERS BEHIND Y
NAIL FIN -

AT EACH ANCHOR

FRAME

PER ELEVATION

SUBSTRATE BY
OTHERS PER . >
"FRAME ANCHOR ™.
REQUIREMENTS ;™"

TABLE"

1/4" MAX. SPACE —|

~—— FRAME WIDTH ——

>

ey
A

1/4" MAX. SHIM

EXTERIOR

SEALANT BY OTHERS

J SECTION /BN
SCALE: 1/2 FULL \2J

~— FRAME WIDTH ——

)

q

SCREW

ARRRVARAY AR R AR g

EXTERIOR

i@

\-SEALANT BY OTHERS

-/ SECTION /B2
SCALE: 1/2 FULL \2/

FRAME SCREW MOUNT SHOWN. SEE
DETAILS ON SHEET 3 FOR DIRECT
MOUNT & CLIP MOUNT DETAILS.

REVISION DESCRIPTION

NO.|

=
o
ol o v
2| € &
=138
[&] ‘-l-‘q:@
2| =8
2| 220
| §:00
5 Qr.gﬁ
& =
i] Zvns
o (¥ )
Z| Soa®
] RS
z 27 n
ClZ2 W
ZlE=z =
al?
ol K
8k
<
g =
@
<3<}
[&] ZS
4
3| 4<%
L2}
z| 2887
S| © . 5.9
S .23
3 [
= o g3
x  3ET
w | weogl
a = =88
£E
LE | I3 288
HZ Jp o2 o805
EZ |0 3807
T Z2xs
5..072
E 230 &
-
S

0 2012
. SCHAEFER, P.E.
NO. 44135

CERTIFICATI

Fa
EV.

RAWING NO. [REV.
1271 _|D

SHEET NO.

2 o 3




INSTALLATION CLIP SCREWS PER
"FRAME ANCHOR REQUIREMENTS
TABLE” (2 TOTAL; 1 PER SIDE)

INSTALLATION

CLIP

SUBSTRATE BY OTHERS
PER "FRAME ANCHOR
REQUIREMENTS TABLE”

1/4” MAX. SHIM
[ NEXT TO EACH cuP

f

NO. 8 X 5/8" SCREWS
(2 PER CLIP)

EXTERIOR

OPTIONAL INSTALLATION CLIP DETAIL 1
(HEAD SECTION SHOWN, SILL & SIDES ARE INSTALLED THE SAME)

CONTINUOUS WOOD MEMBER LESS IN THICKNESS
THAN A 2X_ BUCK TO BE MIN. 3 1/2" DEEP
(NOT REQUIRED WHEN SHIM SPACE IS WITHIN
ALLOWABLE DIMENSIONS SHOWN IN SECTIONS7

Y

U D

SEALANT BY o
OTHERS
oo |
= \[ L
ELX \_ Frane SCREW PER
I ACHOR REQUIREMENTS

TABLE”
OPTIONAL DIRECT MOUNT DETAIL

TO SUBSTRATE WITH SPACER
(HEAD SECTION SHOWN; SILL & SIDES ARE INSTALLED THE SAME)

SUBSTRATE BY OTHERS
PER "FRAME ANCHOR
REQUIREMENTS TABLE”

NO. 8 X 5/8” SCREWS
(2 PER CLIP)

SUBSTRATE BY OTHERS
PER "FRAME ANCHOR
REQUIREMENTS TABLE”

INSTALLATION CLIP SCREWS PER
"FRAME ANCHOR REQUIREMENTS
TABLE" (2 TOTAL; 1 PER SIDE)

1/4” MAX. SHIM
[ NEXT TO EACH cUP

=

SNy, 0 e

f

-

EXTERIOR ﬁlL}

OPTIONAL INSTALLATION CLIP

BT
%" \\1 m cLp

INSTALLATION

DETAIL 2

(HEAD SECTION SHOWN, SILL & SIDES ARE INSTALLED THE SAME)

1.734

}E 0.045 1.841

RIGID & FLEXIBLE PVC

‘—0,045“ 1463 |
4

’ 0.250 J
U
RIGID & FLEXIBLE PVC

o e} o o o O
1.500
o o o o o o
i 7.813 i
tx °
BENT PORTION OF CLIP MAY BE SNIPPED OFF o O
1.942 IF REQ'D FOR PLACEMENT TO SUBSTRATE. o o
l r 0.036
f u

(33 KSI STEEL)

CHECKED BY:

REVISION DESCRIPTION

NO.

19TH STREET
WEST DES MOINES, IA 50265
800-218—-6186

900 S.

WINDSOR WINDOWS & DOORS

PINNACLE ALUMINUM CLAD WOOD NON—IMPACT AWNING WINDOW
VANUFACTURER

>
03
Z®
g2 e
5
%51.’7‘»
ZEE"
-
g<zEn
o EYy
o 36X
x .8a0
L9 %s
wZ Eow
E8zy
9 =25
EZ |257 88
2 ZR=s
™~ E=8 "%
I EEL

02012
/ SCHAEFER, P.E.
NO. 44135

g
4
<
=

DRAWING NO. [REV.
1271 I D

SHEET NO.
OF




